Run 13169, integration on 12 samples

HG pedestal [ADC]

1.51
0
Y2
1.0° : ‘: ’ 8 -1
"‘-Trf. ’J.‘ 3 { ’. .
0.5 00.... o.. . l . 01 -2
. T ]
i alAds s YUl
@
£ P A A gk || 3
£ 00] % . s,it Tatake
> tt.... ® g [ ] 5 ® ..’%. _4
....tto i;,.“’. ot .
~0.5{ WL il ~ ¥y _5
biPed. 48 2. 11 T L)
“}::'; MR 2 U
—1.0- .&.*. 2 —6
%
—7
—1.51 | | EngilneeringCIameraFrlame
-1.0 -0.5 0.0 0.5 1.0
X (m)
HG pedestal std [ADC]
Sope * 34
ST BT, TR 33
@ .3.‘ ‘& ?’; o
0.51 ._gj_t_'..‘- ....;I'N#E.r'_’p - 32
..O‘. q ...
. L Badtl % t‘r. .h
- LI $°. o.( -31
= 0.0 AR TP sa? 'R 1
> b TP TS IRy 2L £
e Yokt APATRECEEAT, 30
SN p s s e Y
-0s| W FIVES g e | ||
® .‘.g: "& 1:.
~1.0- akotf 28
% &
27
| | EngilneeringCIameraFralame
-1.0 -0.5 0.0 0.5 1.0
X (m)
B HG Median -6.08, std 1.97
120
100
80 -
[92]
[
X
o 60-
40
20 -
O_
-15.0 -12.5 -10.0 -7.5 -5.0 -2.5 0.0
HG pedestal
1207 BN LG Median -4.99, std 1.78
100 1
80 -
wn
[
X 60+
o
40 A
20 -
O_
-12.5 -100 -75 -50 =25 0.0
LG pedestal

1.5

1.0

1.5

1.0

0.5-

y (m)

—0.5 71

_1_0_

—1.51

120 1

100 1

80 1

pixels

40

20 -

pixels

LG pedestal [ADC]

0.0 -

f\vf' 0
o’ .’3 oré 3
o..?;‘:‘ oL o .,:’. -1
a,.....;w;‘.;.}".x
-~ A AU et s 0 —2
& SRS X700 St
Nl AW |||
3 ‘s
:’:‘I’.‘-h_‘ﬁﬁf By
. 2 ,’.o.,‘ Vi3 . —4
b R Sl AT A
¢ ﬁoio‘ ...f. _5
L% 7ol
- | | EngilneeringCIameraFrlame —6
-1.0 -0.5 0.0 0.5 1.0
X (m)
LG pedestal std [ADC]
28
xi’g. -,
&
‘.u,f:;‘ f:{.‘. '26
a [ g
?{”.‘:’.‘.. 'L Do f.
g X
: z:' o b 24
ofe 3P
2“' e:::. ’
:’fo‘si}o.", ®
“,’ f <° 22
"\}x“ W °
s
20
| | EngilneeringCIameraFlrame
-1.0 -0.5 0.0 0.5 1.0
X (m)

60 -

25

B Median 30.71, std 2.13

30 35 40

HG pedestal std

B Median 23.94, std 2.26

20.0 225 25.0 275 30.0 325
LG pedestal std



600

550 1

counts [ADC]

w N N Ul
Ul o (O] o
o o o o

w
o
o

250 1

200

600

550 1

counts [ADC]

w I N Ul
(0] ] o (O] o
o o o (@]

w
o
o

250 1

200

600

550 1

counts [ADC]

w N I Ul
Ul o (0)] o
o o o o

w
o
o

250 1

200

600

550 1

w & ~ un
Ul o Ul o
o o o o

counts [ADC]

w
o
o

250 1

200

Run 13169, pixel O
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Run 13169, pixel O
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